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Topic:- Child Development & Pedagogy (CDP)

1) Autistic children mainly have difficulties in ____. / Tael=dl (&) =i #__ &) i3S gl 81
1. Vision / Tf¥

2. Intelligence / gﬁs’

3. Social interaction / ATATTSIH TUH

4. Body movement / SRR Jrfareferar

Correct Answer :-

« Social interaction / ATHTGIh TUDH

2) Applied Behavior Analysis is considered to be a more effective remedial method for:/

VYT agR faxauur f & fore ue aiftres Ut SuaRTere faftr T =i @:
1. Dyslexia/ fEafdaar

2.GDD / SRy

3. ADHD / TEiw=dr

4. ASD/ TUHS!

Correct Answer :-

« ASD/ TTHS

3) Which of the following is not true about the team teaching method? / i ﬁT&fUT U@ﬁ HARH ﬁ";’lﬁ'l'@ﬁ AP I q’(ﬁ%‘?

1. Difficulties are faced in maintaining harmony among team members / W\ & gt & St arieRg EEIY T | Wf%_-ﬂ%tﬁ DI HMHAT HRAT Ugdl %I
2. It is cheaper than other methods of teaching in terms of finances / U8 o & e o freor & s fafday ot dai o g %‘I

3. Teachers get better opportunities for optimal utilization of human resources / HTHd AT ¥ Yoy IUET F fore Ryt ot JgaR AR Had |

4. It is a highly flexible method of teaching in terms of scheduling / I% TFI-fAURT P TeH & TALTUT T Ueh 3T el T &

Correct Answer :-

« It is cheaper than other methods of teaching in terms of finances / g o & T o fRreor & o fafdat &t NG o & %I

4) Which of the following elements is there in problem-solving skills?/ fFrafafaa & ¥ #1991 grer-fary siva 3 Wi %?
1. only the steps to reach the goal / FHad d&g dH Ué'lﬂaf & TR]

2. only the goal / Had aAd

3. only the problem / hael THEAT

4. all of the above/ SURIH THT

Correct Answer :-

« all of the above/ 3URIH THT

5) A child thinks that because he wants to have pizza for dinner, his parents must want it too. What type of thinking is this? / T d=l TrEar % &
% 98 U9 F @M F e e argar g, a9 39 Arar-fuan & ot 7€t @iftu| 9 [P ueR 3t 9" 82



1. Meta-cognitive thinking / €AcA® (FeT-Hdlcas) [ided
2. Egocentric thinking / ¥a&fea (sodfeeas) fidaa

3. Abstract thinking / 3 Riaa

4. Psychotic thinking / #AARIG (AEHIeH) Rida

Correct Answer :-

» Egocentric thinking / Fadfed (Fafegs) Riaa

6) Learners learn best when | et wad ort ovE Whad § o1
1. they listen to the teacher and obey all classroom rules. /¥ U&7 6T a1 'ﬁFlFT g 3R wem & Tl et & Ut A §
2. they understand the lesson and write good notes. /d fawr @I FFgd § 3R 3= o’-ﬂE}r foraa I

3. they understand the relevance and are motivated to achieve the learning goal. / & UTHTIRaT & THSTT & 3R 31fAer7 F 87 & yw = & fow 9Rka
A ¥l
4. they follow all rules and are quiet in class. / a3 gt et &1 Ut BRa % 3R DET # id T&'ﬁ %I

Correct Answer :-

« they understand the relevance and are motivated to achieve the learning goal. / & UTETIRdT &I THSTT & 3R 3AH & o187 H yrg &S & fow IRG
e gl

7) The seat of Intelligence in human brain is ./ HIFd Aferss d @ Ca) aﬁ %I

1. Brainstem / SIT&¢H

2. Cerebellum / 3TJHTEASH (BXdeeld)
3. Cerebrum / UATETSH (J5TH)

4. Spinal cord / ATEUS (FATSAS PIS)

Correct Answer :-

. Cerebrum / UHATEISH (TSTH)

8) Which of the following is the best way to increase correct responses and appropriate behavior? /
wr vfaframt 3k 3R cgaer & sem & v Aeaef@e & ¥ sla-ar g9 o aliw §2

1. Punishment / &3

2. Praise / URMT

3. Ignorance / 3Tl

4, Strictness / T

Correct Answer :-

« Praise / Uer@m

9) Which method is used commonly for the diagnosis and treatment of behavioral problems of exceptional children? /
FATURT qeai $7 FaeR Fath FxHeanit & e 3R 3R & v smeak w fFa R &1 s B s &
1. Survey method / gdeor fafy

2. Case study method / g Teor fafer

3. Observation method / FA%reTor fafer

4, Experimental method / TRNTcAS iy



Correct Answer :-

« Case study method / 8 Fedr fafa

10) Which approach believes in teaching reading based on sounds? / gl & MUR W Yoa-91sT H Sl AT efSehior fReary wyar %?
1. Analytical / f@8iwoTeHA®

2. Syllabic/ reeier

3. Global / TdliEe

4, Phonic / wifa®

Correct Answer :-
« Phonic / wifa®

11) According to Thompson, children can identify their own gender by the age of/ Sz ol IER, T AU TG F AT A IgE 39 3H ¥ W
& &

1. Five years / Urg a§
2. Two years / &l ay
3. Four years / IR a¥

4. Three years / i Iy

Correct Answer :-

« Three years / el ag

12) What is the term used to describe a person’s tendency to remember positive rather than negative experiences?/
AFRICHAF IHerdl F T FFRICAF A6 @A F v freh safea A ygftr &1 aviq @ &g Brw ug 1 3w R S 82
1. Rehearsal effect / qafe=ama gama

2. Retroactive effect / qaeamdy gHEa

3. Lightbulb effect / eliscded gaa

4. Pollyanna effect / Grelieddl T

Correct Answer :-

« Pollyanna effect / Qrelle= THTT

13) What is the full form of MBIT?/ THH\3TEE FT quT & F4T §?

1. Myers-Briggs test instructions / FTIH-fseg udiem Ader

2. Myers-Briggs type of indicator / AH-9T YR Tohadw

3. Myers-Bricks type of indicator / AH-fIFT YR b

4. Myers-Bricks test instructions / AR - T adiem fader

Correct Answer :-

» Myers-Briggs type of indicator / AY-B9E UhR Thdd

14) What type of memory is sometimes referred to as nondeclarative memory? /

& TR 1 T F w-FAR rEivoTeAs ST & w9 F e S 82
1. Autobiographical memory / 3TeFaRd (Jeramanfrad) Tofa

2. Factual memory / 2aTcHe T



3. Short term memory / oTg-hTellel T
4. Procedural memory / UfhaTeae® T

Correct Answer :-

« Procedural memory / Ufhareasd fd

15) An assessment that is carried out throughout the course is called . /
qE HHeA S QX TETHA F R ReAT e &, Fgerar g

1. Formative assessment / XIATHD ThclT

2. Summative assessment / JNMcah FeAThe

3. Diagnostic assessment / S&lfed Hedde

4. Initial assessment / URHE 3Tehoret

Correct Answer :-

o Formative assessment / IdTHD b

16) Which of the following is not a form of bullying? / PFIfaf@a & ¥ Fia a1 Feamnf F1 e w7 a8 §?
1. Teasing other children / 31T gt @Y 3'5?-”

2. Pushing other children / 3/ I<dl &l YarehT ST

3. Mutual exchange of lunches / &/ 61 URTURE 3fgel-acall

4. Insulting other children/EiHi’ Il T UATA HIAT

Correct Answer :-

 Mutual exchange of lunches / & & TRTURG EeT-agelr

17) Which of the following clinical procedures are based in part on classical conditioning?/
Frafaf@a & & Fia @ dafas afrm Fafdea FHafT w maRa 2

1. Token economy / STl ST

2. Two chair techniques / § IR deheiiehr

3. Transference/ TUTATAROT

4. Systematic desensitization / STATEAT W@TFITUT

Correct Answer :-

+ Systematic desensitization / SFaREUT TIGITErRIT

18) Which chromosome is responsible for determining that the child is born male? /

Flar |1 A TF U T F AT sTErt @ ¥ 5 aem R Y gar #2
1.'Y chromosome / Y J[OTHA

2. C chromosome / C I[UIGgA

3. L chromosome / L J[0TFT

4. X chromosome / X JI[UTHA

Correct Answer :-

* Y chromosome / Y J[UTHA

19) If a child has no problems with any schoolwork other than reading and writing, what could he be diagnosed with? / ¢ Rt s=@ &I gga K’y
e & sramar Bl I Tga w1 A B FEER a@ ¢, O 3@ B ela R e awa 2



1. Learning disorder / 31Rard faaR

2. Communication disorder / FaR faddR
3. Mental retardation / HTATHE Fedl

4. Intellectual disability / difger 3raTarar

Correct Answer :-

« Learning disorder / 319 faaR

20) A child searches for an object where they previously found it even after they know it moved to another location. This approach is seen because of
limitations relating to ./ T qoar UE Wl g F @S FAT B, el 3 9 3H G WA W A I F a1 ot 9 §| 7@ wfewior
¥ gafta HAst & FROT d@T A g

1. Attachment/ 3iefelieleh (31eTdHT)

2. Egocentrism/ T@Y ( s9MAfeesaT)
3. Conservation/ FY&TOT

4. Object permanence / ¥ TR
Correct Answer :-

+ Object permanence / ¥ Fafidca

21) Who developed a Psychosexual theory of human development from infancy onward? / dRATaEdT ¥ AT RFE F1 vF AAARF Rgua e
Rwfaa e

1. Erik Erikson / TR& s{eaet

2. Piaget / fOamst

3. Sigmund Freud / 9T W18

4. Vygotsky / argImcaeht

Correct Answer :-

« Sigmund Freud / e wrag

22) The concept of intelligence is more related to: / iﬁ{ﬁﬁF HIYRYT FHY HOE FEOT &
1. Concrete thinking / JTdqul Rider

2. Intuitive thinking / dgel fide

3. Rational thinking / d®&aId Ride

4. Emotional thinking / #Taellcaes TideT

Correct Answer :-

« Rational thinking / dh&IT Rida

23) Rorchach ink blot test consists of / U2 TITEY FHT TeaT GNETOT e & =1 & &
1. 10 black cards and 5 coloured cards10 / @Tel U 3R 5 @l oo

2. 10 black and 10 white cards / 10 @Tel 31X 10 The TF

3. 5 black and white cards and 5 coloured cards/ 5 Tl 3R The T 3R 5 Wia o

4. 10 multicoloured cards 10/ E@T«‘ﬁ G

Correct Answer :-

« 5 black and white cards and 5 coloured cards/ 5 @ref 3R T%he o 3R 5 ThT o



24) When failures are punished during childhood, it leads to ./ 9 HAFAAIH & T a9 Fehm eRa fmaranar e, Y $r A AT

2l

1. Negative reinforcement / mgﬂﬂm
2. Encouragement / ‘;ﬂﬂ'l%?r

3. Persistence / &

4. Learned helplessness / 31fare fagerar

Correct Answer :-

« Learned helplessness / 3191 fagerar

25) Maturity affects learning because it impacts -/ IRUFaT AT F ganfaa A § FfF I8 @FFT 9T g91@ STeram &
1. Motor skills/ 9Reh aiRreT

2. Readiness/ Ul

3. Cognitive capabilities/ TATATCHD EIFATHT

4. Both motor and cognitive skills/ ST #eX 3R FATATCHE DiRreT

Correct Answer :-

» Readiness/ dcUddrl

26) According to the Social Learning Theory, there are 4 necessary conditions for effective modelling.

Attention, retention and reproduction are 3 of these conditions.

Which is the 4" condition? /

wTeF rfteer Rguia & quR, el AT & @w 4 3maas of
£, 3rqURoT 3R gotere ¥ 3 et §

ateft et 7T ¥

1. Situation /T@Iﬁ

2. Attraction / 3TTepYOT

3. Imagination / dedeTl

4. Motivation / UROT

Correct Answer :-

« Motivation / JOT

27) Creating positive classroom culture falls under the domain of : / e RTcHS HaT HEF ol &1 fvaATor fovee 17 & 37cweta e &
1. Social need / ATATISIR JTTIHAT

2. Affective need / HATATcHD TRl

3. Psychomotor need /HAATIROT T TARIRAT

4. Cognitive need JO=TcHS TAThdT

Correct Answer :-
« Affective need / HATdTcHD JTIIhAT

28) Which of the following can be described as a positive reasoning style for failure in achieving success? / Afaf@aT & @ FI1 ghadr grod w1l 7
HAFAAT F AT TF TFRCAF dF TEBd F T & 0T FT Fhar &2

1. Environment problem / dTdTeRONT AEAT



2. Medical and Psychological Reasons / Tafehear 3R FaRRe BRoT

3. Difficulty in writing / 9@l & HIEAT

4. Lack of Motivation and Interest to put efforts / UHTT S & forw OO 3R SR @ e
Correct Answer :-

o Lack of Motivation and Interest to put efforts / UHTT 3o & fow oo 3R IR @1 e

29) Some parents do not explain the rules but force the child to adhere to them at any cost. This type of parenting is known as:/
F& AT et f e @ wa § A a2 A Rl ot fea W) 3T g T F AT Aoy FQ § 59 TR A Wil 7 e w0
A ST ST §:

1. Permissive Parenting / 31@?!1375 W

2. Uninvolved Parenting / 3r@@afora Rféar
3. Authoritative Parenting / 3TTfIRe® R
4. Authoritarian Parenting/ TaTaTer Uf&ar

Correct Answer :-

« Authoritarian Parenting/ TaTdTey UIfes

30) Studies in human development take into consideration the period from: / A9 fawra & srarge EL) 3afy & sa= H I@ar %:
1. Conception to adolescence / THTUTT A TopNRTaET

2. Birth to adolescence / STl § foReiRTaE2m

3. Birth to death / STl & FOT

4, Conception to death / T & q{Y

Correct Answer :-
« Conception to death / T I qcY

Topic:- General English(L1GE)

1) Fillin the blank with the correct option in the given sentence:

A person’s way of expressing himself orally is called his --tion.
1. dic -

2. form --

3. ac--

4. dec --

Correct Answer :-

o dic--

2) Fill in the blank with the correct option in the given sentence:

Major firms are controvers-- sending more and more work to countries where labour is cheap.
1 -y

2. --ially

3. -ial

4, --ies

Correct Answer :-



3) Which of the following options best combines the given sentences?

Would you rather live in a tropical climate? Would you rather live in a temperate climate?
1. Which you prefer, tropical climate or else a temperate climate?

2. Would you rather live in a tropical climate or in a temperate climate?

3. Rather you like tropical climate or would you rather live in a temperate climate?

4. Whether you like tropical climate or a temperate climate?

Correct Answer :-

* Would you rather live in a tropical climate or in a temperate climate?
4) Choose appropriate articles for the given sentence:
____prospect is something that might happenin____ future.

1. The ... the

2. A ... no article required

3. A..the

4. No article required ... no article required

Correct Answer :-

e A..the

5) Choose appropriate article for the given sentence:

He was abandoned by his parents and he became like ____ orphan at a very early age.
1. an

2. the

3.a

4. no article

Correct Answer :-

6) Choose the appropriate option that rewrites the given sentence in its passive voice.
Several external influences have shaped Indian culture.

1. Indian culture is been shaped by several external influence.

2. Indian culture was shaped by several external influences.

3. The Indian culture has shaped several external influences.

4. Indian culture has been shaped by several external influences.

Correct Answer :-

« Indian culture has been shaped by several external influences.

7) Choose the appropriate synonym for the highlighted word in the given sentence.
He was given a lot of praise for his good work.

1. reward



2. disregard
3. compliment

4. flattery

Correct Answer :-
» compliment

8) Choose the appropriate tense to fill in the blanks in the given sentence:

The Mumbai Express usually on time, but today it late by an hour.
1. came... comes

2. comes... came

3. come... is coming

4. is coming...comes

Correct Answer :-

® comes... came

9) Choose the appropriate tense to fill in the blank in the given sentence:

I think it rain, I can see dark clouds now.

1.is to

2. will be going to
3. was going to

4. is going to
Correct Answer :-
« is going to

10) Choose the appropriate antonym for the highlighted word in the given sentence.

Studying science subjects cause a lot of frustration among students.
1. pleasure
2. pinpricks
3. sorrows

4. hassles

Correct Answer :-

» pleasure

11) Choose the appropriate conjunction for the given sentence.
the alarm goes off, I hit the snooze button.

1. Since

2. Once

3. As much as

4. As soon as



Correct Answer :-
e Assoon as

12) Choose the appropriate determiner for the given sentence:

In spite of _____ progress in his work, he did not lose hope.
1. many

2. much

3. any

4, little

Correct Answer :-

o little

13) Choose the appropriate prepositions for the given sentence:

____ Reston, Virginia, there is a modern school built a mountain.
1. On ... across

2.In ... inside

3. At..in

4. From ...on

Correct Answer :-

14) Choose the appropriate indirect speech for the given sentence .

“Politics is the game of the wealthy, it will not change tomorrow or even later” said Rajaji.

1. Rajaji called politics as the game of the wealthy and noted it should not change tomorrow or even later.

2. Rajaji told politics is the game of the wealthy and it will not changed tomorrow or even later.

3. Rajaji said that politics was the game of the wealthy and that it would not change the next day or even later.
4. Rajaji said that politics will be the same of the wealthy and it will not change the next day or even later.
Correct Answer :-

« Rajaji said that politics was the game of the wealthy and that it would not change the next day or even later.

15) Choose an appropriate modal for the given sentence:

This is a hospital. You not smoke here.
1. could
2. need
3. must

4. may

Correct Answer :-

e must



16) Choose the option that best explains the highlighted expression:
The plan has been given the thumbs up.

1. anod

2. has been rewarded

3. has been discussed

4. has been disapproved

Correct Answer :-

e anod

17) Choose the most suitable pronoun for the given sentence:
Did you paint this? I can’t believe that this is

1. his

2. yours

3. ours

4. hers

Correct Answer :-
e yours

18) Read the sentence carefully and choose the option that has an error in it:

A century has being scored by Sachin.
1. No error

2. A century

3. has being

4. scored by Sachin.

Correct Answer :-
* has being

19) Read the passage and answer the question that follows:

Opera refers to a dramatic art form, originating in Italy, in which the emotional content is conveyed to the audience as much through music, both vocal and
instrumental, as it is through the lyrics. By contrast, in musical theater an actor's dramatic performance is primary, and the music plays a lesser role. The
drama in opera is presented using the primary elements of theater such as scenery, costumes, and acting. However, the words of the opera, or libretto, are
sung rather than spoken. The singers are accompanied by a musical ensemble ranging from a small instrumental ensemble to a full symphonic orchestra.
The Italian word opera means "work", both in the sense of the labour done and the result produced.

What are the words of the opera known as?
1. Musical

2. Vocal

3. Lyrics

4. Libretto

Correct Answer :-

e Libretto

20) Read the passage and answer the question that follows:

Opera refers to a dramatic art form, originating in Italy, in which the emotional content is conveyed to the audience as much through music, both vocal and
instrumental, as it is through the lyrics. By contrast, in musical theater an actor's dramatic performance is primary, and the music plays a lesser role. The



drama in opera is presented using the primary elements of theater such as scenery, costumes, and acting. However, the words of the opera, or libretto, are
sung rather than spoken. The singers are accompanied by a musical ensemble ranging from a small instrumental ensemble to a full symphonic orchestra.
The Italian word opera means "work", both in the sense of the labour done and the result produced.

Where did Opera originate?
1. Italy

2. America

3. England

4. Africa

Correct Answer :-

21) Read the passage and answer the question that follows:

Opera refers to a dramatic art form, originating in Italy, in which the emotional content is conveyed to the audience as much through music, both vocal and
instrumental, as it is through the lyrics. By contrast, in musical theater an actor's dramatic performance is primary, and the music plays a lesser role. The
drama in opera is presented using the primary elements of theater such as scenery, costumes, and acting. However, the words of the opera, or libretto, are
sung rather than spoken. The singers are accompanied by a musical ensemble ranging from a small instrumental ensemble to a full symphonic orchestra.
The Italian word opera means "work", both in the sense of the labour done and the result produced.

How is drama presented in Opera?
1. Through music and dance

2. Through the orchestra present

3. Through costumes

4. Through primary elements of theater such as scenery, costumes, and acting

Correct Answer :-

« Through primary elements of theater such as scenery, costumes, and acting

22) Read the passage and answer the question that follows:

The culture of nuclear families is in fashion. Parents are often heard complaining about the difficulties in bringing up children these days. Too much of
freedom in demand, too much independence; over night parties; excessive extravagance, splurging pocket money; no time for studies and family all this is a
common cry of such families. Aren’t parents, themselves, responsible for this pitiful state? The basic need of a growing youth is the family, love, attention
and bonding along with moral values. One should not forget that ‘charity begins at home’. Independence and individuality both need to be respected, in order
to maintain the sanctity of family.

According to the author, who is responsible for the trouble that emerges in families?
1. Children

2. Society

3. The parents

4. Relatives

Correct Answer :-

o The parents

23) Read the passage and answer the question that follows:

The culture of nuclear families is in fashion. Parents are often heard complaining about the difficulties in bringing up children these days. Too much of
freedom in demand, too much independence; over night parties; excessive extravagance, splurging pocket money; no time for studies and family all this is a
common cry of such families. Aren’t parents, themselves, responsible for this pitiful state? The basic need of a growing youth is the family, love, attention
and bonding along with moral values. One should not forget that ‘charity begins at home’. Independence and individuality both need to be respected, in order
to maintain the sanctity of family.

In the passage, what are the basic needs for a growing youth?

1. Moral values



2. Respect and individuality
3. Family, love, attention, bonding and also moral values

4. Family, love, attention

Correct Answer :-
» Family, love, attention, bonding and also moral values

24) Read the passage and answer the question that follows:

The culture of nuclear families is in fashion. Parents are often heard complaining about the difficulties in bringing up children these days. Too much of
freedom in demand, too much independence; over night parties; excessive extravagance, splurging pocket money; no time for studies and family all this is a
common cry of such families. Aren’t parents, themselves, responsible for this pitiful state? The basic need of a growing youth is the family, love, attention
and bonding along with moral values. One should not forget that ‘charity begins at home’. Independence and individuality both need to be respected, in order
to maintain the sanctity of family.

What should be respected in order to maintain the sanctity of the family?
1. Splurging pocket money

2. Overnight parties

3. Extravagance.

4. Independence and individuality

Correct Answer :-
» Independence and individuality

25) Read the passage and answer the question that follows:

The culture of nuclear families is in fashion. Parents are often heard complaining about the difficulties in bringing up children these days. Too much of
freedom in demand, too much independence; over night parties; excessive extravagance, splurging pocket money; no time for studies and family all this is a
common cry of such families. Aren’t parents, themselves, responsible for this pitiful state? The basic need of a growing youth is the family, love, attention
and bonding along with moral values. One should not forget that ‘charity begins at home’. Independence and individuality both need to be respected, in order
to maintain the sanctity of family.

What begins at home?
1. Learning moral values
2. Respect

3. Happiness

4. Charity

Correct Answer :-
e Charity

26) Rewrite the following changing the active sentence to passive.

Ria bought a pair of earrings.

1. A pair of earrings had been bought by Ria.

2. A pair of earrings had been bought for Ria by him.
3. A pair of earrings was bought for Ria.

4. A pair of earrings was bought by Ria.

Correct Answer :-

A pair of earrings was bought by Ria.



27) Choose the right tag:

I often come home late from office, _ ?
1.dol

2. don’t |

3. didn't |

4. is It

Correct Answer :-
e don’tl

28) Opera refers to a dramatic art form, originating in Italy, in which the emotional content is conveyed to the audience as much through music, both vocal
and instrumental, as it is through the lyrics. By contrast, in musical theater an actor's dramatic performance is primary, and the music plays a lesser role. The
drama in opera is presented using the primary elements of theater such as scenery, costumes, and acting. However, the words of the opera, or libretto, are
sung rather than spoken. The singers are accompanied by a musical ensemble ranging from a small instrumental ensemble to a full symphonic orchestra.
The Italian word opera means "work", both in the sense of the labour done and the result produced.

What is the meaning of the word “opera”?

1. Energy

2. Scenery

3. Work

4. Lyrics

Correct Answer :-

» Work

29) Choose the option that substitutes the given phrase appropriately.
In exactly the same words as were used in the original
1. Facsimile

2. Duplicate

3. Photocopy

4. Verbatim

Correct Answer :-
e Verbatim

30) Choose the right tag:

~

She grinned at you
1.isn't she

2. wasn't she

3. didn't she

4. did she

Correct Answer :-

e didn't she

Topic:- General Sanskrit(L2GS)

1)
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AHATA AT |

TRIcAT- 3cTF 3 Ycad: Hald-



eellehl TfScar 3rellged YR gTdshedel JaA -
i G STefell TaYH , WIS &I 87oT9 1T TaaUsH |
FeIfetet: fob &1 shIfeT aTd, &fiom 57T fersereo srafed ||
Ie1sT FHGT HITAHSATETON FoITaIcT e or aifee |
U TefloAT cTHATHIAT o AArdeh 07 FATAR o ||

Td o AIhHANYT FARR e |



aRese afscar Jeaed YeHc Faad -

STeleehlel BT INT: 6 dHled €A | dAd IFATA Fdled €A | E:
TEFel: 3fd FAT | URNTAETOT URILT: I¥hol AT TH | T 5TH
T g ferodgfa: gfd gdd oA U ggfd: deered. giEer
3T | TFFe! T T Al BHEE TTerdafd |

ATATFTPEARUAET:  3UYY TS Hled | TATIOT  ATHAAT:
facamsarg: areHih: Tepel HAd A  U@E TT | HErARA

ACIATAIRT: FHY Feorpderar: fGegreard: ead 3fd ad Sea: |
Td @GGAY 54 ggla: UidEried |

ohol BIAT: EAEHACIAH, 38U Fdfod | 3AA HE Jeboladiaie
MG ScUEdled | UIa: &I o s Pafed | IR W

ch&'l?d | BTET: TEAVETTTAEATAG T EIRIATUT ETIAT qané?-?d | ST

agau‘rﬁ‘r 3TEfIT 3= FTETEION IR Eafd |
31|ﬂ|dchch|oisfﬁ‘ 96d: el a‘c{%m-_alﬁ?rr FAAfed | 3T UEAdud:
e Wﬁ?ﬁ?—lﬁﬁﬁﬁm AAATAYATATH 3eAIAANT s7afd | b

TR 3MfAhaleshel BIAT: ehel dHIed EATIRIT TITAIEeT: I

, eTeaa
Correct Answer :-

eI
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eellehl IfScar IrenfAfevesy Teaey YA FaId —

faufe dmramegey avaT T areragar gier fashe. |
FAT =R el UGG & Fercae=ie ||
fraareraveRa ¥ qofed Seda: |

dEAT] dcd daded adel &l GRadT I

HfeA FgTcH=T: Jfeeha: s/afa |

gt



9)

eellehl fScar IreNfATESeTT Ty YGHR AT —

faufe eiFemsaed &7 A areFuedr afer fasha: |
ATl Tnferseie dt upfdfagiae & #grcae ||
frarFaveRe ad qofed Seda: |

AT dad aFdcd ddel &l aigdr |l

FFdIH AT UcId: Hafd|

gellenl gfScar steNecd Uea gfdehedel Taad -

TSI &JTCAT STeleil TaYS , Wieiel &JUTciT #7191l TaHUSH |
geIferT: foh & AT ara, &fiom ST fseheon srafed ||
qels T THET FETHIASTEToN JeTaTaT s ol Tlied |

TF Follell SHTATSIAT o FArdhATToT TATA e ||

AraRAIOT 37 3T JATY: |



| s
) HAH:
Correct Answer
TR
11) X .
IR IfScaT TeTE T YSHR JIId -
STeleehlel ST N IE dHied €A | d3d AT pdled TA | E:
TEFel: ST FLIS | ITAATIEGTOT IIer: ool oTafd T | 37: 5T
Tkl Teier freoragta: sfd a@rd edgA:l vWr ggfd: deereld IRaer
3T | TBFel T TT Al BT, ITordfe |
AAdeFTSIERUACY: 30Ny UHen: dled | AR oasher:
faeamsara: aredih: qedel dd A J U@E TT | AR
AR FAT Feorpderal: faegmeama: serad sfa o SeE: |
Td HIGIY T Ui GRAGIEd |
Tohel BT dERMEAGHTH 36U Fdfod | AT g Tohellaaraiic]
AMPIEI ScUCAled | UIa: HF o el Paled | YA HEH
$dfed | BET: TEITETAAEATAG! o ma:ra‘rﬁ’r AT Fdfed | BHET:
agaw‘rﬁ"r 3l e IRV IR aafd |
3-1T¢-llu-|chchloisfef agd: Ioepoll: aaemm—rr eagafed | 39 URAaw:
e mmmﬁaﬁamﬁmr AATANATAH TEATAANT safed | oo
TR 3MfAhaedhel BIAT: ehel dHled EATTRLT TIEAIEsT: 3T
uredied |
Tepel Al 54 HITd TH -
e
, T=T
3
Il



Correct Answer :-

eellehl fScar IrNfATSSerT UReTed AR AT -

faufe dmamegey a1 e aregear gier fashe: |
TR =TERIede= Adt upfafagiag & Fgrca=e ||
fraareavers ad qofed Seda: |

dEATd ded gFded gl &l aRadT |l

ST gEa §7Aq |
Glerdr






IR Ifdcar TeAET YSHcR FIId -

Urfellel BMET: IR 98 qlled TH | T3d 3T Faled T | @
Tepel: S LIS | URNATAETOT WL ool HIfd T | 37: 5TH
T AT feretoragta: 3fd g@d eI TWT ggfd: dgereld graeT
38T | ¥l XU TG Al B drerdfd |

ATATCFIIARUACT: 3UAYY UGl Tled | THIY  TaHern:
faeameara: aredlie: P ead sfd J 9w T | AGEIRd
AR FAIY Feorpdodn: fdeamsara: 3ad sfd ad Seia: |
g Hﬂ'{lﬁg g ggfa: aeed |

ool BIAT: dARMEACHH, A Fdfod | AT Hg Topeiqareiie]
AMEPIGI SUGATed | UId: #F T dgiged Pdled | IRUcedT: TR
Fdfed | BMET: SEAYETTCTEAGGe FahrAol FTaAHT Fdled | BMET:
aﬁaﬂ‘rﬁ“r el 37 Feciaion INd gafd |

Hmﬁmﬁsﬁ’r 9gd: ol GEQHH@H FAGAed | 3T URNATGY:
g Wﬂ?ﬁaﬁﬁmﬁm AATAYATATH IEATAANT HaTT | o]
UL 3TfARaedhel BT ehel dHled EATTRIT TIEAIesd: IR

gredfed |

IMYfAFHS ING: 5d: AR TISAfed -



eeIeht afScar sreleed UReT Agidshedel JaAd -
TSI &I STeTedl T , Wl &JITclT [oT9iT TIHUSH |
geIferT: fob &1 A ard, &fiom 577 fsereo stafed ||
oS FlgT HITATSATETN FoTaTar e qor aifod |
TG rell=dl THATHSCT o Srdeha 07 FHTAR o ||

Td fASHEU: Hafed |

2 HHIRY:



URTSE IfScar URTET YGHR FAA -

HEAHIGAATAIIET e 2¢y? dH fohedies YRR 378dd | 38T TUdr
oifdieh: STEAUT: 3UGelh: ° NI dTed HAGHIG: HEDAUTGATATH
HAYSA| A YAEIARATICATeAId .U, 341l [glcar 3TeATdeh: 378dd |
HAed¥H 3TH 3Taaq UG I@Icar Hele] HFUlaeh:, drarehlel:, ECRE
HIYUThdl o 3T#ad| ARAIT-TEpd: WA 318 HgTAET: RV feeg
faeaiacarera:’ sfd == #gd: GEAET EAUAT Hde| dar o 34l
Uq TE GEAGE GUH: FAUTd: Al SiaUASidea] AT
FCIEAEART Uldse: Had| 3El FHcaRs:, ARARE 8adr:
WEH: e, Hedaddl, AU I R AT MeoAd FTAHRAAY
AQY 3T IUEAT IHGA| HEICHAT IeEl HAHT TSI dH
ATl IoIT 3 ARAEIATR: WA §Ade: JHHad quiy
JTAT: AEH: AR SeAl: T FHARCHAT T TEAFHAH 3ol
toye gd a¥ Il WlREITSdl Wi RO cdsgdl  anid,
Sievcigdehdl UIiaed easadl Wt | UdTeel: Ud gofsf: aAdr 37id|
AATT ATAAIT: |

feeeiarafacareaea v Fqaeer: -

. STEIRUTH



2ellehl fdcar IATESeTT UReTed AGHR FAAT —

faufe ddaemsged &7 T ¥ arFaedr Ifer fasha: |
ATy TEETIed Adl vpiafagiae fg Jgreaee ||
frgarravea ad qeafed Siedd: |

JEAIT dcd aFded adst &l GRadT I

faufe O3 3¢ yepfa: safd|

| FTGTRIIET

. HglcHA:



URTde 9fScar UReAed YEH Jaad -

HCAHIGTHATOAIIET ST 2¢s? dH Tohtdied TR 378ad| 38 fOar
qiffeh: STEAUT: 3UGeh: T NIl Sed HAGTHIGe: HEhAUTSLATATH
US| dd™ GIAEITTICATAT ST, 3UME J[glear 3egTeh: 3787d |
Hefed¥H 3H 3Taaq AT Iglcar Helel HF9lGep:, dekehlet:, 3T
HINUTehdl o 3787 HNAIT-HEehd: &I 376 HGISIRT: IRV %q
faeafdearera:’ sfa AW Agd: GEAWTET TAYAT Hade(l dar T 34t
g JXT TEAEET TUA: Feufd: 3e7ad] Hfdugaseeay AAed:
FITEEA™T ufgse: 3ead| 3 [AAeERE:, ARARAT:  §eadnr:
ULH: e, Tcdderdl, FoNUIhall o A 37cT: dedta ey
AQY 3T AUET IHeTad| FelcAT Il AT TEoISOHIIdedH
AT IeI 31T ARAEAdRAn: g8 §Fde: 3ad quiy
T AP AR STl T FHBCHAT T TEAFAAA  3Hde|
eye, @ af I WoleEesdl A% SRUTAfRawdT dvadr A,
STeAuCGigdehdl UMAaEd adsadl Ul TdTeRr: T gGelsT: aidl 3
AHATA AT |

ATTARRY Sglocd: A a¥ FHeId-

238l
, 2%%Y

5, 9R¥E

4 {]¥o

Correct Answer :-

. 9%yE



URTSE IfScar TRTET YGHK FaId -

HCAAGAATCAIIET STod 2¢st dH Tohedied YIRENER JHad| 38T TUar
qiffieh: SEAU: 3UGRh: T NI Ted HAGHIG: HEhAUTOATIATH
US| T YAFEIARATIEATeATd .U, 31 [glcar 3{eqTdeh: 3787ac |
IelecRA 3TH ITIRT fRIGT IEIcar Al §odlaeh:, Jeehlel:, 37eld#:
STYUThl T 3787l $TRCIT-T¥pel: T&TTAH 378 FETHET: aRIoTEAT %q
faeafaearera:’ sfd AT Aed: TEACTET FTAYA hdel dar T 374t
g dET TEAET FUH: Fedfd: eTad] HfAugas=eay AATed:
FEIFHEARIT Uldse: gl 3l HFeiT:, ARAR™En:  |eadn:
UH: #Fd:, Hegadkdl, FeYuhdl o 3| 31 oA ey
AQY 3T IUET G| FelAT el AT FEeISosddedH
FATAl eI 3 ARAIEATleTdrr: T §Hded:  Jfefad  dunfy
ITeT: AHHRN: HRART: STl T FAPCHT 3T TEAFATH  HPa|
jye, O I¥ I ISl @it FITCIﬁ%?ITFcI‘r gasgdr uﬂ%‘r
SATGiRdehdT MATET gasIal WA TATERr: TG gt Adl 3R
HHAA AT |

ACAAIGACT FAeHEATTH ITCHAE-



TR Ifdcal TeAET YSHcR FITd -

Urielel BET: IR ¢ qHed TH | TG TS Fafed TH | T
Tepel: S FLAS | URNATAEGTOT FIer: ehel HAIfd TH | 37: 5TH
T gl feTorgla: St g eeRIA:| U Ugid: deerelid. TS
38T | T¥pel XU T Al B drerdfd |

ATATCFISIIARUACT:  3UAYY  UHE!: Hled | THAIY  TGhrn:
facameara: arefie: IRFA efEd sfd J IRE UT | AGEIRA
AGIATIRT: FHIY Feorpdordr: fdeamsama: 3iad sfd ad Seia: |
g Hﬁ'{@g T ggfa: gfaered |

Tehel BIAT: ARG, 3T Fdfod | 3AHA g ITopaqarie]
ARGl 3UIGATed | Uld: T I JNglgsd gﬁﬁ“—?—r | YA TETd
Fafod | BMET: TEAIETTCTEAGG FahrANeT FAHT Fdlod | BT
a%aﬂ‘rﬁ‘r el 3 eefaion NG gafd |

aTﬂﬁwﬁsﬁ’r 96d: ool a'c:%ﬂﬁ@?r Ao | 3T UGy
g mmmﬁaﬁﬁmﬁm ANATAYATAH HeATAANY sl | oo

YTART: 3‘|I‘~’:43I Ghdlbiw\i Sl Al J;I)biwi ddfed 3TEATIHRIRT +d+ddl63-_£|'2 IR




aReee afdcdl 9eaed qgHcR Fead -

STeleehlel A AN A% dHled €A | d3d AT pdled €A | @
TEhel: 3 FLAA | IRNATALTOT JIIer: Pl o7l TH | 37c: 5TH
U g fAerodgfa: gt g oA U ggfd: deehred. TiEeT
3T | T¥Pel T T Al BT, ITerdfd |
TATCHISPERUIET: 3TNy UG Hled | AU ATHAAT:
facamsara: areHlh: JRpel eHad 3 U@ TT | HEARA
AIITAIRT: FHY FEorhderar: fdeaream: emad 3fd ad Ses: |
Ud HIIY $3 Usia: UiEEried |

Tohol BIAT: ACTAEACIATH, AT Pl | 3AA HE Teboiladiafe]
AMEPIEI SUCATed | UIa: HF T el Pafed | U T
Fdfed | BMET: TEITETCAEAARG o W‘@T FGAT Fdfed | BT

mﬁmﬂmﬂma‘cﬁl
3-]Tﬂlu-lchchlcﬂsﬁ 9gd: Ioholl: AGUATEAGIS], AT Ted | 31F reiediau:
g Wﬁ»‘&ﬂ?ﬁ?—lﬁﬂﬁﬁm AAATAVATATH 3eAIAANT s7afd | oo

TTRr: 3T fAhaTeshel STAT: Tehel dHId EATIRIT TIEAIGeT: 3T

3



vellenl afcar srenfafesesd ueeed Ygaccl TaId —
faufe ddmamegey avar Aefd arededr gier fashe: |
IR rfeETaedaed Adt upfafsae & dgrcasie ||
fraraveR- ad qofed Sieda: |

JEATd dod doded ddel &l giRgdr |l

ad 3T qfed |

eellohl gfScaT 3fefeed e UgidhedsT I -

FeIfareT: foh o1 ey UTd, &fioT Sfer feysereoT srafed ||
geisT figr Fararaerfaron gerfeiar s qoi wifed |
T FollelT SIHAHSIT o wArdehaA o] FATAR o ||

&t STefsll Td Foid|




Correct Answer :-

27)

URTBE UfScar YeeTEd YGHH A -

HAHIGIATAAIIET SToH 2¢$? dH Tohedles TR ATl 36T T
Oiffeh: SEAUT: 3UGelh: U Al dTed HAGSTHIG: HEDAUTGATIATH
HYSA| dd YAEITITTICATAT .U, 3UMY I[Elear 3TedqTdeh: 37#dd |
HeAed¥H 3H 3Tadq fAeT I[EIcar Helel HFUIGeh:, drekenhlel:, 3AUA:
HIYUThdll o 3T#ad| HARAIT-HEpd: T&TH 378 HeeleT: JRIoEm feog
faeafaearerd:’ sfq AT #d: GEAHET FAGAT Hdde| dar o 3El
U T GEAET VAH: Hodid: IEd| hiduaasieedl AATerd:
FlHHEEA™T Ufdse: 3Had| 346 AAcaRE:, #ARER™EE  geadrrn:
GE: #Herd:, Hoddddl, GHITUhdl o | 37T Mosd TG RAY
AGY T AUET IEd| HElCHT IRl A T ASSHIdodH
HAG| YA 318 ARAIEAATRT: WH: FASS: 37ad quiy
3o Aeh: HARAAT: Fel: ° GHAOHT 3T TEHFAGAH  3ehde]
ye. dH IY¥ Al TelHIITSd| Wi aUTdiededl gasadl I,
STAYGTedehdl TIfdaey gasadl UieAlfd| udreer: U4 %oﬁa: AdT 3T
AHATT AT |

ﬂiﬁa?&g H;rﬂ‘rgr 3T 3T HACTAIgAATIAR ATHIA-
. arpiasEa:
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Correct Answer :-

AU
. .D =
) QHTHIHTHAHITHAH3TT 36T JUTHANSTTH -
. ITRT2ITeT
,, T

, STeYTeT
, G

Correct Answer :-

. 9Tl

Topic:- Mathematics (MAT)

1) 3c(a+ b)isa/an

3c(a+ b) TH 81
1. algebraic equation / SSTIOTAT FafreoT

2. monomial polynomial / THGERT CIRCS
3. binomial polynomial / U&= wgue



4. trinomial polynomial / Fudra ague

Correct Answer :-
« binomial polynomial / fguérr qgue

2) If the perpendicular distance of a point P from the x-axis is 8 units

and the foot of the perpendicular lies on the negative direction of x-axis, then the point P has: /
R x4 A TP RGP P daaa gl 8P

3R I BT UG x-37&f B BUTHS MR R@ g, A g p A &:

1. Ordinate = 8 / ®If¢ = 8

2. Abscissa=8 or -8 / 3T = 8 37YdT -8

3. Abscissa=8 / 3T =8

4. Abscissa=-8 / a1 = -8

Correct Answer :-

e Ordinate=8 / ®Ife = 8

3) If the CSA of a right circular cone is 12320 sq cm and its base radius is 56 cm, then its height is: /

Ife TP o add WP BT 9 YENT QTbd 12320 71 Al TUT SHPT My Brsur 56 A4t B, d st = &
1.42cm / 42 §

2.24cm / 24 @

3.40cm / 40 ¥H

4,21 cm / 21 @3

Correct Answer :-

e 42cm/ 42 T3

4) What is predecessor of natural number 1? /
UTpd =T 1 B Ydadi e Fa1 872

1.2

2.1

3. no predecessor / IS Ydadl TEAT AL ¥

4. 0

Correct Answer :-

« no predecessor / PS GdadT TEAT A ¥

5) Which one of the following is not an objective of scholastic assessment? /
fFrafafea & & #9-a1 fagFl & geaied o1 U I 76 82

1. Knowledge / ?1TeT

2. Analysis / fr&woT

3. Comprehension / HHST

4. Attitude / FAGRT

Correct Answer :-

« Attitude / FAGRT



6) A regular pentagon has perimeter of 45 cm. What is the length of one side? /
TP 99 UgYs &1 IR 45 At 31 39F TH Yo Ft dars fba-h 22

1. 9cm / 9 @Y

2. 95cm / 9.5 @

3. 7.5¢cm / 7.5 QA

4, 15cm / 15 @3

Correct Answer :-

« 9cm / 9 T3
7) pZ+qd-z°
If p=-2, g= 3. and z= 2, then find the value of ——
- +pa-paz
R Z1g9—=5 .
e p=-2,¢=3,7d z=2 {, A §——— & AT A FI
z +Pa-pqz
9
1 5i
31
2. 2
1
3 5
4. 19
Correct Answer :-
1
. 5
8) 1 e 1 - I
x2—5x+6 x2—-7x+12 xZ-6x+8
1. (x-3)
2. (x-2)
3.0
4, (x-4)

Correct Answer :-

The diagonals of a rectangle PQES intersect at the point O. If
£P0OQ = 130° then £ORS =7

3d PORS & @0t thgay & f§g O W afd=siad avd
g1 afg £POQ = 130°, dd £ORS =7
5 —R

30°



[
Lh
5]

130

50°
4.

Correct Answer :-

28

10) The area of sector of a circle of radius 10 cm and of angle 60° is o

10 ¥ =21 G 60° HIUT AT U dod & TASUES HT ATARC &
Esqcmfgaﬂ'ieﬁlﬂ
& )

157 157

qucm,f?a?’réﬂ’r

167 ia7
qucmea?ﬁ'@ﬁFﬁ
3.

4. 157 sqcm / 157 a7

Correct Answer :-
157 157
gi sqcm / aia?’r Earsi]

11)  Given two right angled triangles PQR and DEF _such that 2Q=30,

£D=30 and QP=DE write the correspondence if triangles are congruent. /

& wAFIT BegeT PQR IR DEFsH &R 2w arv § 7 £Q =30, «D =30 3R QP=DE
21 afg Bere wales € ar Headr a1

, ARQP=AFED

, AQPR=ADFE

3. APQR=ADEF

4 APQRZAEDF
Correct Answer :-
APQRZ=AEDF

12) 1 APQR, £P=90° and X is the mid- point of PR. The value of QR? — QX? is equal to .
| APQR#, +P=90° T PR &I HATEg X &1 QR? — QX? &I Al = |

1, oPX*
2. 3PX*

3, 4PX*"



4 PX°
Correct Answer :-

. 3PX?

13) APQRis an isosceles triangle with PQ=PR. Altitudes RF and QG are drawn to the sides PQ and
PE. from vertices R and Q If one altitude RF is 3 cm and the base QR is 5cm then GR= i

APQR Uw wHEEETE feyet & f5rd PQ=PR | ofdeial RF 3R QG# offif Rud Q&
g PQ 3R PR @& e oirar 1 af va effeid RF 3 T § 31 3mem QRS ¥+
garorR=__ |

lL.4cm / 4 QA

2.3cm / 3 @l

3.5cm / 5 @l

4.6cm / 6 QAT

Correct Answer :-

e 4cm / 4 WA

14) AD is a median of AABC and M is the midpoint of AD_Ifthe area of ABMD is 2.5 cm?, then the

area of AABCis [
AABC &1 U% AIfEgar ADE dum AD &I A=afdg M1 afE ABMD &I a1F%a 2.5
A2 &, dr AABC T &%d 2l

1.20 cm? / 20 ¥af?

2.10 cm? / 10 ¥

3.5cm? / 5 ¥

4.25cm? / 25 Q2

Correct Answer :-

« 10 cm? / 10 {2

15) . 1 . . . . .
Anu’s ageis ;d- of her mother’s age .If Anu’s age is 12 then mother’s age is /

el @I 3T 3EHT AT HF A @& 1/3 71 A 377 T 37 12 ¥ g, @ AT 67 37 &



The length of two trains T1 and T2 are 620 m and 480 m respectively. The length of the freight
train T3 is twice the sum of T1 & T2. Find the time required by T3 to cover a post on the
distance
1/
eed

platform if it has a speed of 20 m/s. [time =

gr & T1 vd T2 &7 oars Fa 620 Hiex 3K 480 Hex g Arernsr T3 & was
& T1 wa T2 & 1 &I Qulelr ¢ AfE g@eht aifd 20 Hexfias 8, ar T3 g@rT
THCHIH W Ut URT &l UN S & o0 3Taedd THET AT Hi?

1. 3 minute 10 seconds / 3 &€ 10 TAFH3
2. 1 minute 50 seconds / 1 f&de 50 Jhs
3. 2 minutes 10 seconds / 2 f&ee 10 AHhs

4, 2 minutes 40 seconds / 2 f@deT 40 AF3

Correct Answer :-

« 1 minute 50 seconds / 1 f&de 50 AFs

17) . s ;
g dxfr*2 _ 3x-y 1=x+3::+i,thenﬁndthevalueofxa.ndy.

3 2
3x+y+2 _ 3x-y—1 +ay+1 B :
gfg TR =T S TR AN x U y & A A A
x=2 =2
: 5
1.
x=1=v=-5
)
2.
1
T o
3.
4.x=2,y=3

Correct Answer :-

X=—2:v=_—13
S
18) oo
If @ and 8 are the zeroes of the polynomial x* — 5x + k,wherea — f = 1,thenk = __. /
e a Tdp TGUE 22 —5x +k H YIF tagla—f= 18 dTk=__
1.—6
2.2
3.3
4.6

Correct Answer :-



Four figures are plotted on a graph sheet as mentioned in the following table.

Covered area Figure | | Figure 2 | Figure 3 Figure 4
Fully-filled 3 g 6 4
squares

Half-filled 7 _ 2 5
squares

More than half 4 4 _ 8

filled squares

Lessthan half 9 7 _ _

filled square

Find the figure with larger area. /

T arfder & afvlg o ofie W 9r 3ss g o §)

&ad fhar T | HiHsI1 | Hihsr2 | HEsr3 ITahsT4
SES

t{\ufr T Y I 5 8 6 4

T

T a1y gar 7 - 2 5

ey F e | 4 4 - 8

gy gat

Y w2 7 - -

It

ey g% &1 &7 3T Ad &l

—_

. Figure 4 / 31T 4
2. Figure 2 / 313l 2
3. Figure 1 / 3fisT 1
4. Figure 3 / 3@ 3
Correct Answer :-

« Figure 4 / 31i@sT 4

20) Find the value of 'K’, if x* =2+ 1 4o o factor of 2X° +x° — 14x? +5k+6
afy 2% + 23— 1452 + Sk + b g wes ©0 26 F 1 3 @k STAM I A
L -1

2.2
3.1

4.3

Correct Answer :-

21) Find the missing number in the following pattern. /
fFrafafee ted & gu S ya 31

7 ,1,5,_,17

1. 11

2.4

3.7

4.6

Correct Answer :-



22) Find the difference between the predecessor of 98701 and the successor of 9871. /
98701 ¥ qdadl 3T 9871 F WGt & S AR BT e B

1. 88832

2.2

3. 95000

4. 88828

Correct Answer :-
« 38828
23) Find the GCD of 10, 20, and 30. /

10, 20 3iR 30 FT HEWH ISP (GCD) I HI |

24) A scaled down teaching encounter is known as !
Sradofta (T e18) Rraror wadf F = H ST o 21
1. Macro teaching / g freqor (FHepr )

2. Micro teaching / & RAeToT (FTSHY EfRIM)

3. Mastery teaching / Udfor fRrefor (@TEEY Afeian)

4. Model teaching / Alser ALTOT (HATser SIRIM)

Correct Answer :-

« Micro teaching / g&# 8107 (FTgehT &ifeiom)

25) Postulates are assumptions specific to i
wafdrs, famed &t s@urome 7)1

1. trigonometry / FeIoTfART

2. algebra / drserfOTa

3. geometry / SATTATT

4, arithmetic / 3/RITTOTT

Correct Answer :-

« geometry / SATHTA

26) ‘Algorithms De numero Indorum’ was a work on Arabic Arithmetic by v
TETNREH S gAY SSRW’ F GRT 3RT IO UR favar ar ot T

1. Al Kharkli / 376l @il



2. Abil-Wefer / 31fare-a%hT
3. Omar Khayyam / 38T @ZITH

4, Al-Khwarizmi / 3Tel-TaTRoH

Correct Answer :-
« Al-Khwarizmi / 3Tol-TaTReH

27) is the ability for a child of two years who is able to distinguish between more and less things when he/she is fit to consume food.

3 3 AT & T DY &HdT & Sl HISH BT STHRT S & e fbe 811 W 3ifie iR o9 vl & aiF 3iaX &< & F&H
|

1. Understanding of notations / Thdel T THST
2. Recognition of numbers / FEar fir gl
3. Recognition of notations / Tohcel &r gedid

4. Innate number sense / Tl T&IT A

Correct Answer :-
« Innate number sense / Tl TEIT Y

28) Rhombus is formed by joining the midpoints of the adjacent sides of a v
F A s & Heafagsit & e & Tuagys sqar 81
1. Rectangle / 3gd

2. Parallelogram / HFIR Tgyst

3. Rhombus / Feagsst

4, Kite / gder

Correct Answer :-

« Rectangle / 3dd

29) The mean weight of 7 boys is 45 kg. The weights of 6 of them are

53 kg, 45 kg, 40 kg, 37 kg, 42 kg and 50 kg. Find the weight of the 7th boy. /

7 GSP| BT AT aoi 45 fHUT 21 370 A 6 F1 aw 53 5, 45 f53, 40 53, 37 3, 42 fom 9T 50 fFam 81 73 @SS 71 Il Fd B}
1.42kg 7 42 fpam

2.48 kg / 48 fmam

3.45kg / 45 fmam

4.50kg / 50 fomam

Correct Answer :-

o 48kg / 48 fham
30) The degree of the polynomial (2x —8) + (8- 2x): /
L] (2x—-8)+(8-2x) Hua

1.1



Correct Answer :-

31) The action verb for giving examples of different types of sets is ./
fafira v & Tl & Sererur 3 & e frares fisar B

1. classifying / goffeRzoT

2. comparing / Jefell

3. differentiating / g

4. listing / IO

Correct Answer :-

« classifying / I3[l

32) The graph of the linear equation 2x +5y =10

&® FHIHROT 2x + 5y = 10 T U T 34T ¢ o fig R x-3& § frear 21

1.(0,2)

is a line which meets the x-axis at the point ./

2.(12)
3. (5,0)
4.(2,5)

Correct Answer :-

33)
Which property is used to equate: /

THiipd F31 F e {9 qurend 1 IugRT e sirar :
i.19 x 13 =190 + 57
ii. (-34-53) + 23 = - 34 + -30

1. i - Commutative property, ii - Associative property / i - SATAfAT T[0T, ii - AR 0T

2. i- Distributive property, ii - Closure property / i- fadoneses o7, ii - FHGA 01
3. i - Commutative property, ii - Closure property / i- hATAST 0T, ii - HATTA IOT
4. i - Distributive property, ii - Associative property /i - [EGRUIGEED 0T, i - ﬂ%ﬂT\PfﬂuT
Correct Answer :-

« i- Distributive property, ii - Associative property /i - EGRUICED 1, i - Hgﬂm’lm

34) If P(3,-5) and Q(-3,-6) are two points, then abscissa of P-ordinate of Q
is: / 9f& P(3,-5) T Q(-3,-6) A RFE 8, MQF P-HR FT YT 3:

1.0

2.3

3.-11

4.9

Correct Answer :-



35) Choose the solution for the equation: x+9 =12. /
FHEROT: x+9 =12 F g FT 9qA B

1.3

2.4

3.2

4.6

Correct Answer :-

36) Simon has a rectangular pond of length 210 m and width 165 m. He wants to fence it with 2 rounds of rope at the rate of Rs. 10 per metre.
Find the cost of fencing. /

AEAT F 9 210 #Hiex ot 3 165 FAex =t v IAAER drerE ¥ 98 10 39 9fy A A T A T F 2 W A sqH 918 9T e gl
TS A Y ARG AT B

1. Rs 15000 / 15000 ¥4
2.Rs 7500 7 7500 T4
3.Rs 6930 / 6930 T0
4.Rs 693000 / 693000 T4

Correct Answer :-

« Rs 15000 / 15000 o

37) If the perpendicular distance of a point from y-axis is 4 units, then the point has: /
afy y-387 ¥ vF Rig A diwad g 4 gHE ¥, A Rg ¥

1.y coordinate 4 / y fa&en® 4

2. x coordinate -4 / x faguE -4

3. x coordinate 4 / x fa&aa® 4

4. x coordinate 4 or -4 / x fAEAF 4 3¥ar -4

Correct Answer :-

« x coordinate 4 or -4 / x fAEAF 4 3¥ar -4

38) If each of (-3,6),(0,3) and (3,0) is a solution of a linear equation

In x and y ,then the equation is: /

Ifg 9AF (-3,6),(0,3) v (3,0) vk Y@F wAlwIor x vd y & g §, o g
1. y=x-3

2. y=x+3

3. x+y=3

4. y+2x=0

Correct Answer :-

. xty=3

39) The area of the triangle whose vertices are P(2,0), Q(5,0) and R(5,2) is: /



39 e 1 aawa A F Sorwwr o P2,0), Q(5,0) TER(,2) &
1. 25 units® / 25 @S2

2. 6 units? / 6 SHIE2

3. 4 units? / 4 FHS?

4. 3 units? /3 sﬂo‘l?fz

Correct Answer :-

« 3units? /3 SHE2

40) Which one of the following points does not lie on the line 2y = 5x-2? /
frfaf@a # ¥ #ia-dt Rig dar 2y = 5x-2 W Ruw adt 2

1. (0,-1)

2. (-4,-11)

3.(-2,6)

4.(2,4)

Correct Answer :-

41) Which one of the following is not a teaching style? /
e & ¥ Fia-d@ v Raror i 78 &

1. Scolding / fere=TTT

2. Demonstration / i

3. Inquiry / ST

4. Discovery / 3=dyoT

Correct Answer :-

« Scolding / TerearT

42) Which one of the following statements is false about polynomial? /
fAmfafRd & @ -1 Fu Tg9g F WY F 3w

1. According to division algorithm, the dividend polynomial p(x) when divided by divisor g(x), gives quotient q(x) and remainder r(x) such that p(x) = g(x)q(x) + r(x),
where degree of r(x) 2 degree of g(x). / TAUTSH TUMIY & SER, UTST U< p(x) P! ST HISd g(x) ¥ FAHIRIa fvar Sirm 8, @ HITh e q(x) Td 2 r(x) 39 THR
18 B p(x) = g(x) q(x) + r(x), 6T r(x) BT °Tl > g(x) I U ¢

2. A polynomial with degree 3 can have a maximum of 3 zeros (roots). / BTl 3 & T Teh TgUG I A 3 YrAETH) & Fhd &
3. A polynomial with degree 2 can have a maximum of 2 zeros (roots). / BTl 2 & HIY Teh TLUG & Al 2 YLRAE) & Fhd

4, If the graph of an equation intersects the x-axis at two points, then the equation has 2 zeros (roots). / Jfe; TH THHIOT &I ITH x-31&T P ar ﬁlg&ﬁ W FIed &,
ar g F 2 YT () B B

Correct Answer :-

» According to division algorithm, the dividend polynomial p(x) when divided by divisor g(x), gives quotient q(x) and remainder r(x) such that p(x) = g(x)q(x) +
r(x), where degree of r(x) > degree of g(x). /‘ fqureT ToHfaf % SIER, HISY dgUq p(x) Bl TG NS g(x) ¥ fqufora fasan smar %, ar YT q(x) Td oy r(x)
T UHR 1 8 3 p(x) = g(x) q(x) + r(x), TET r(x) HT b1 = g(x) FT G1d &

43) Abscissa is also known as the ./

T (S[ST1) ____ o & off S S 81



1. X-axis / X - 3&7

2. Point / feig

3. Ordinate / Pfe 3787
4. Y-axis / Y - 31&T
Correct Answer :-

o X-axis /X - 3787

44) Visualizations and drawing conclusion is achieved through the study of )
FouaT 3R YX@HT A Y & ewdd & AeIA § ued fBRAn S g

1. Analytical Geometry / faI&WoTTcae ST

2. Spatial geometry / TUTfA® FaTfAfT

3. Algebra / SrstaTfoTeT

4. Arithmetic / 3/RITTOTT

Correct Answer :-

« Spatial geometry / TUfa® FanfAfa

45) The length of the rubber tube is 44 cm. If it’s two ends are joined together, then it forms the circle. The area of circle is: / @5 TI@ #Y FaT$ 44 ¥ 31
afy su% & oR U Ay s Re It § @ 9% g9 99T §1 gF F AABA &

1. 14 cm?/ 14 32
2. 44 cm?/ 44 T2
3. 154 cm?/ 154 Qa2
4. 28 cm?/ 28 T2
Correct Answer :-

o 154 cm?/ 154 92

46) The sum of the digits of a two-digit number is 5. If 9 is subtracted from the number, the digits interchange their places. Then the unit digit of the
number is: /

Y P TEIT F 3B &1 AT 5T ARG TEw F F 9 g™ FaT §, at IF A TUA dRafda F AF § A T&AT F A I &
1.2
2.9
3.7

4.6

Correct Answer :-

47) If the perimeter and area of a circle are numerically equal, then the radius of the circleis__ ./
Ry v ga A Y qo dvd FETHF WA T LA @R B ¥

1. 3 units / 3 FHS

2. 1 unit / 1 ZHS

3. 4 units / 4 IPIS

4,2 units / 2 3PS



Correct Answer :-

« 2units / 2 3PS

48) “Let no one enter who is ignorant of mathematics” was stated by ./
“aiftrg @ s F5 it afeq W@y T N7 @R F@ =T 9l
1. Thales / 99

2. Pythagoras / UTSUTTRA

3. Enchid / TS

4. Plato / ToleY

Correct Answer :-

« Plato / Tolel

49) The abscissa of the point of intersection of less than ogive and more than ogive is .

g AT (ogive) ¥ FA qUT AT RAFOT ¥ HWF & wfoeda g A o (abscissa) T
1. Mode / age

2. Mean / &

3. Median / #feger

4. None of the above / 3WIH & & HIS AL

Correct Answer :-

e Median / #TCIHT

50) Find the odd one out. /

v g1
1.<
2. =
3.0
4, £

Correct Answer :-

51) Generalisation of Arithmeticis: /
AT FT AATAFIOT §:

1. Algebra / SrSTfoTa

2. Probability / STfesar

3. Statistics / wif&aDh

4. Calculus / m

Correct Answer :-

« Algebra / SSTITOIT

52) Asingle linear equation in two variables has: /

& W #H e I@F wHiwwor g &



1. Maximum two solutions / 31fhda &I &l

2. An unique solution / T 3ifgfT &t

3. Infinitely many solutions / 3/d &

4. More than 2 but less than 4 solutions / & & 31f0® AfhT 4 & &H &
Correct Answer :-

« Infinitely many solutions / 3%d &

53) 'Let no one who is unacquainted with geometry enter here' is connected with _____. /
g oft cufFa ot swfafa @ s &, s W a1, Y & w&fa &
1. The Sophist School / ®ifthee Tger

2. The Platonic School / Teldifa® Tgel

3. The First Alexandrian School / Ugell Hﬁﬁ‘@'ﬂﬂ TRl

4. The lonic School / 3w Fgel

Correct Answer :-

« The Platonic School / Teleifad Thel

54) Which of the following is considered as undefined term? /

fFrfaf@a & ¥ 5 3aRena 9g #@En aar 2

1. point / Tdg

2. Quadrilateral / il?_{?i\_ﬂ
3. Circle /7 qd

4. Prime Number / 3T3TeT H&T

Correct Answer :-

55) The author of Lilavathi was: /
demadt & d@s &

1. Brahmagupta / SI&I9[H

2. Aryabhatta / 3Md#eE
3. Bhaskaracharya / $TTEGh=IT
4. Ramanujan / THATTSTA

Correct Answer :-

e Bhaskaracharya / HIERAT

56) 3Im6cm=7?/
36 W =2
1.3600 cm / 3600 ¥
2.360 cm / 360 @
3.306 cm / 306 ¥

4,30.6cm / 30.6 T

Correct Answer :-



« 306 cm / 306 T

57) A man loses one-third of his money, then wins Rs. 10,then loses one-third of what he has, wins Rs. 20., and finds that he has exactly what he
had in the beginning .What was the amount he originally had ? /

TSP 3MeH ST ¢RI BT Top-foeTs eR SIa1 8, 7 10 30 Siiadr 8, SHS a1e a1 8 SHST Th-fIgTs eR SI1dT 8, 20 T Sfiddl 8, 3/ 39S Uy a1 &1
YARTRT B foraei oy o Y | 3P Ry Yo R fopae <t

1. Rs.12/ 1270
2.Rs.24 /24 70
3. Rs.48 /48 Tu

4.Rs.36 /36 T

Correct Answer :-

o Rsd48/48 70X

58) If the angles of a triangle are in the ratio 2: 3: 4, then the difference between the smallest and the largest angle is. /

Tfe FIYS & S0 FT U 2: 3: 4 §, @ TIQ BT 3R a4 TS FHI0T & S PT 3R F1d Y

60°

407

4.
Correct Answer :-
400

59) If a regular hexagon is having side of 12 cm, then its area is: /
i TP |9 YU B Yo 12 W0 B, &Y sHHT S d B

156v2
25642
N 216v3
12943

Correct Answer :-

216v3

60)
Which one of the following expressions is false? /
ot & 3 Si9-11 Siee Tad 82

a)9999 <1000

b)1052<1025



€)958765>957865
1.Bothaand b/aTdbaHl
2. Onlyb / &aa b

3. Bothbandc / bud ¢ a&r

4, Onlya / &ad a

Correct Answer :-

« Bothaand b/aUdbaH!



